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(i) Explain how you arrived at your answer for part (B)().

12
(€) Give the denary (base 10) value of the byte: 10111110

(d) A parity check may not identify that a bit has been transmitted incorrectly.

Describe one situation in which this could occur.
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(a) Explain whatis meant by HTML.

(b) HTML uses both structure and presentation
Describe what is meant by the two terms

Structure

Presentation

(€) Explain the function of a web browser.
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7 (a) Check digits are used to ensure the accuracy of input data

AT-digit code number has an extra digit on the right, called the check digit

Digitpositon | 1 [ 2 [ 3[4 |5 [6[7[s

Digit -1 -1-1-1T-1T-1T-1-

The check digit s calculated as follows:

- each digitin the number is multipiied by its digit position
« the seven results are then added together

- thistotal is divided by 11

« the remainder gives the check digi (ifthe remainder = 10, the check digitis X)

(i) Calculate the check digit for the following code number. Show all your working
4 2 4 1 5 0 8

Check digit

An operator has just keyed in the following code number:
3 2 4 0 0 4 5 X

Has the operator correctly keyed in the code number?

Give a reason for your answer.
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(b) When data are transmitted from one device to another. a parity check is often carried out on
each byte of data. The parity bitis often the leftmost bit in the byte.

(i) Ifa system uses even parity, give the parity bit for each of the following bytes

party bit

party bit

A parity check can often detect comuption of a byte.

Describe a situation in which it cannot detect cormuption of a byte.

8 The steps to print a document using a laser printer are shown in the table below.

Put each step in the correct order. The first step has been done for you

Step

the orinfing drum rotates._a laser scans across it this removes the
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(€) The clock alarm has been set at 08:00.

Describe the actions of the microprocessor which enable the alamm 1o sound at 08:00.

@

e B

Canthese bytes of data pass the even parity check?

(a) 01010101

(b) 11001000

() How can any errors be corrected?
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Ahmed uses the Intemet for some time and is puzzled by the terminology.

(a) Draw a line to match each description 10 the appropriate technical term

authoring language used to
create documents to be viewed
on the World Wide Web

Browser

computer that responds to
requests to provide information
‘and senvices over the Intemet

HTML

defines how messages are
transmitted and formatted
over the Internet

MAC address

numerical ID for each device
on the Intemet

Internet Server

software that enables users
to accessiview documents and
other resources on the Intemet

1P address

unique ID for a network
interface card

http

(b) Ahmed sees the message “Set your browser o accept cookies”.

Explain why some websites make this request.
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(a) State what is meant by the terms:

Parallel data transmission .

Serial data transmission

(b) Give one benefitof each type of data transmission.
Paralel data transmission

Benefit

Serial data transmission

Benefit

]

(c) Give one application of each type of data transmission. Each application must be different.

Parallel data transmission

Application

Serial data transmission

Application
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2 (a) State whatis meant by the term USB.

(b) Describe two benefits of using USB connections between a computer and a device.
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Parity checks are often used to check for errors that may occur during data transmission.
(a) A system uses even parity.

Tick (/) to show whether the following three bytes have been transmitied correctly or
incorrectly.

11001000

orrotoo _—

&)
(b) A parity byte is used to identity which bit has been transmitted incorrectly in a block of data.

The word *F L OW G H A R T" was transmitted using nine bytes of data (one byte per
character). A tenth byte, the parity byte, was also transmitted.

‘The following block of data shows al ten bytes received after transmission. The system uses
even parity and column 1 is the parity bit.
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One of the bits has been transmitted incorrectly.

Wiite the byte number and column number of this bit:
Byte number

Column number
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(i) Explain how you arrived at your answer for part (B)().

(€) Give the denary (base 10) value of the byte: 10111110

(d) A parity check may not identify that a bit has been transmitted incorrectly.

Describe one situation in which this could occur.
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